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IBPS PO MOCK-4  

By Alok Sir 
Directions (1-5) : Study the following information  
carefully and answer the given questions : 

funsZ'k (1-5) : fn, x, lwpuk dks lkoèkkuhiwoZd i<+sa ,oa uhps iz'uksa  

ds mÙkj nsaA 

Twelve actors are sitting in two parallel rows containing six persons 
each, in such a way that there is an equal distance between adjacent 
persons. In row-1, Akshay, Sidharth, Shahid, Shahrukh, Salman and 
Ranvir are seated (but not necessarily in the same order) and all of 
them are facing south. In row-2, Kareena, Katrina, Raveena, 
Priyanka, Deepika and aliya are seated (but not necessarily in the 
same order) and all of them are facing north. Therefore, in the given 
seating arrangement each person seated in a row faces another 
person of the other row. Akshay sits third to  the left of Salman. The 
person facing Akshay sits second to the left of Deepika. Two persons 
are sitting between Deepika and Kareena. Shahid and Shahrukh are 
immediate neighbours. Shahid and Shahrukh do not sit at any of the 
extreme ends of the line. Only one person sits between Sidharth and 
Shahid. The person facing Shahrukh is an immediate neighbour of 
katrina. aliya is not an immediate neighbour of Kareena. Priyanka 
does not face Akshay.  

ckjg vfHkusrk nks lekUkkUrj iafDr;ksa] ftuesa izR;sd esa N% O;fDr gS] 

esa bl izdkj cSBs gS fd vklUu cSBs yksxksa esa cjkcj nwjh gSA iafDr 1 

esa& v{k;] fl)kFkZ] 'kkfgn] 'kkg:[k] lyeku] rFkk juohj cSBs gS 

¼vko';d ugha fd leku Øe esa½ rFkk lcdk eq[k nf{k.k dh vksj 

gSA rFkk iafDr &2 esa djhuk] dsVjhuk] johuk] fiz;adk] nhfidk rFkk 

vkfy;k cSBs gS ¼vko';d ugha fd leku Øe esa½ rFkk lcdk eq[k 

mÙkj dh vksj gSA vr% nh xbZ cSBd O;oLFkk esa iafDr esa cSBk izR;sd 

O;fDr nwljh iafDr ds fdlh O;fDr ds lkeus gSA v{k;] lyeku ds  

ck,a ls rhljs LFkku ij gSA og tks v{k; ds lkeus gS og nhfidk ds  

ck,a ls nwljs LFkku ij gSA nhfidk rFkk djhuk ds chp nks O;fDr  

gSA 'kkfgn rFkk 'kkg:[k fudVre iM+kslh gSA 'kkfgn rFkk 'kkg:[k  

nksuksa gh iafDr ds fdlh Hkh Nksj ij ugha cSBs gSA fl)kFkZ rFkk 'kkfgn  

ds chp dsoy ,d O;fDr cSBk gSA og tks 'kkg:[k ds lkeus gS]  

dsVjhuk dh fudVre iM+kslh gSA vkfy;k djhuk dh fudVre  

iM+kslh ugha gSA fiz;dak v{k; ds lkeus ugha cBSrh gSA 

1.  Who amongst the following sits seconds to the right of  
 the person who faces Raveena ? 

 fuEu esa ls dkSu johuk ds lkeus cSBs O;fDr ds nk,a ls nwljs 

 LFkku ij cSBk gS \ 

 (1) Shahid 'kkfgn (2) Shahrukh “kk:[k 

 (3) Sidharth fl)kFkZ (4) Salman lyeku 

 (5) None of these buesa ls dksbZ ugha 

2.  Which of the following statements regarding Sidharth is true? 

fuEufyf[kr esa ls fl)FkZ ds lanHkZ eas dkSu lk dFku lR; gSa A 

 (1) Sidharth sits second to the left of Shahid 

fl)kFkZ 'kkfgn ds ck,a ls nwljk gSA 

 (2) Akshay sits to immediate left of Sidharth 
 v{k; fl)kFkZ ds Bhd ck,a cSBk gSA 

 (3) Deepika faces Sidharth  

nhfidk fl)kFkZ ds Bhd lkeus gSA 

(4) Shahrukh is an immediate neighbour of Sidharth 
 'kkg:[k fl)kFkZ dk fudVre iM+kslh gSA 

 (5) The person who faces Sidharth is an immediate neighbour of 
Priyanka 

og tks fl)kFkZ ds lkeus gS fiz;adk dk fudVre iM+kslh 

gSA 

3.  Who amongst the following faces Kareena? 

fuEUkfyf[kr esa ls dkSu djhuk ds lkeus cSBk gS \ 

 (1) Akshay v{k; (2) Shahrukh “kk:[k 

 (3) Shahid 'kkfgn (4) Salman lyeku 

(5) None of these buesa ls dksbZ ugha 

4.  Who amongst the following sits exactly between Deepika and 
Raveena? 

fuEufyf[kr esa ls dkSu Bhd nhfidk vkjS johuk ds chp eas gSa \ 

 (1) Aliya vkfy;k (2) Katrina dsVjhuk 

 (3) Priyanka fiz;dak (4) Kareena djhuk 

 (5) None of these buesa ls dksbZ ugha 

5.  Four of the following five are alike in a certain way based on the 
given seating arrangement and thus form a group. Which is the 
one that does not belong to the group?  

fn, x, ik¡p esa ls dksbZ pkj cBS d O;oLFkk ds vk/kj ij ,d 

leku gS rFkk ,d lewg cukrs gSA fuEufyf[kr esa ls dkSu ml 

lewg dk fgLlk ugha gS \ 

 (1) Ranvir juohj (2) Katrina dsVjhuk 

 (3) Deepika nhfidk (4) Shahid 'kkfgn 

 (5) Salman lyeku 

Directions (6-10) : Study the following information  
carefully and answer the given questions : 

funsZ'k ¼6-10½ % fn, x, lwpuk dks lkoèkkuhiwoZd i<+sa ,oa uhps iz'uksa 

ds mÙkj nsaA 

In a certain code language: “only in serial order” is written as “ve pu 
na to”. “order in the state” is written as “li ve su pu”. “the logical 
idea only” is written as “su na ri jo” and “in idea or theory” is 
written as “zt jo bk pu”, ,d [kkl dksM esa] “only in serial order” dks 

“ve pu na to”  fy[kk tkrk gSA “order in the state” dks “li ve su pu” 

fy[kk tkrk gSA “the logical idea only” dks “su na ri jo” fy[kk tkrk gS rFkk 

“in idea or theory” dks “zt jo bk pu” fy[kk tkrk gSA 

6.  Which of the following is the code of ‘theory’? 

fuEufyf[kr eas ls dkSu ‘theory’ ds fy, ifjHkkf"kr dksM gSA 

 (1) zt (2) bk (3) jo (4) pu (5) Either ‘zt’ or ‘bk’ 
7.  The code ‘li ri to ve’ may represent ? 

dksM ‘li ri to ve’ fu:fir djrk gS& 

 (1) serial order theory only 
 (2) only idea state order 
 (3) state logical serial order 
 (4) serial theory state the 
 (5) only the idea logical 
8.  Which of the following may represent “logical idea is only order”? 

fuEUkfyf[kr esa ls dkSu “logical idea is only order” 

dks fu:fir djrk gS& 

(1) jo na ri ge ve (2) ve na ri jo pu 
(3) ri ve na zt bk (4) bk to pu jo ve 
(5) na ve su li pu 

9.  Which of the following is the code of “logical”? 

 fuEufyf[kr esa ls dkSu lk “logical” dk dksM gS \ 

(1) su (2) jo (3) na (4) ri (5) None of these 
10.  Which of the following is code of “serial”? 

 fuEufyf[kr esa ls dkSu lk “serial” dk dksM gS \ 

(1) pu (2) to (3) ve (4) su (5) None of these 
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Directions (11-15) : In each question below is given a 
statement followed by two courses of action numbered I  
and II. You have to assume everything in the statement 
to be true, then decide which of the two suggested 
courses of action logically follows for pursuing.  

funs'kZ ¼11-15½ % uhps fn, x, izR;sd iz'u esa ,d dFku vkSj mlds 

ckn dk;Zokfg;ksa ds nks mik; I vkSj II fn, x, gSaA vkidks  dFku esa 

nh xbZ izR;ds ckr dks lgh ekuuk gS vkjS mlds ckn r; djuk gS 

fd fn, x, nks  lq>koks a es a dkSu lh dk;Zokgh dk;kZUo;u ds fy, 

rdZlaxr :i ls vuqlj.k djrh gSA 

Give answer mÙkj nsa& 

(1) If only I follows. ;fn dsoy I dk;Zokgh djrk gSA 

(2) If only II follows. ;fn dsoy II dk;Zokgh djrk gSA 

(3) If either I or II follows. ;fn ;k rks I vkSj II dk;Zokgh djrs gSA 

(4) If neither I nor II follows.  
;fn uk rks I vkSj II dk;Zokgh djrs gSA 

(5 If both I and II follow. nksuksa I ,oa II dk;Zokgh djrs gSA 

11. Statement : dFku % 

The sales of ball pens manufactured by company VARNY  
have gone down considerably ever since the same  
company introduced a gel pen in the market.  

tc ls daiuh VARNY us cktkj esa ,d tsy isu dh 'kq:vkr dh  

gSA rc ls blds }kjk fufeZr ckWy isu dh fcØh esa dkQh fxjkoV 

vkbZ gSA 

Courses of action : dk;Zokgh % 

I. Ball pens should not be manufactured by VARNY  
anymore. 

vc ‘VARNY’ daiuh }kjk vc vkSj ckWy isu dk fuekZ.k ugha fd;k 

tkuk pkfg,A 

II. VARNY should immediately withdraw all gel pens from  
the market so as to force people to buy ball pens. 

‘VARNY’ daiuh dks cktkj ls LkHkh tsy isu okfil ys ysus pkfg, 

rkfd yksx ckWy isu ysus ds fy, ckè; gks tk,A 

12 Statement : dFku % 

Nearly 26 percent of all engineering graduates have been left 
unemployed owing to severe recession worldwide. 

iwjs fo'o esa vkfFkZd eanh ds pyrs yxHkx 26 izfr'kr baftfu;fjax 

Lukrd csjkstxkj jg x, gSA 

Courses of action : dk;Zokgh % 

I. All the unemployed students should be advised to take up jobs in 
foreign countries. 

lHkh csjkstxkj Nk=ksa dks fons'kksa esa ukSdjh ysus dh lykg nh tkuh 

pkfg,A  

II. The unemployed students should be advised to take up jobs only 
after the recession is over. 

csjkstxkj Nk=kksa dks dsoy vkfFkZd eanh ds ckn gh ukSdjh ysus dh 

lykg nsuh pkfg,A 

13. Statement : dFku % 

The government airline has been making huge losses even as private 
airliners continue to prosper and make  

substantial profit. 

ljdkjh ,vjykbu dks Hkkjh uqdlku gks jgk gS tcfd futh vjykbUl 

yxkrkj le`) gks jgh gS rFkk i;kZIr ykHk vftZr dj jgh gSA 

Courses of action : dk;Zokgh % 

I. All the private airlines should be banned from their operation in the 
country. 

ns'k esa lHkh fuft ,vjykbUl ds lapkyu ij izfrca/k yxk fn;k 

tkuk pkfg,A 

II. The government airline should be instructed to increase  
passenger fare significantly in order to increase its profit.  

ljdkjh ,vjykbu dks viuk ykHk c<+kus ds fy, vFkZiw.kZrk ls ;k=kh 

fdjk;k c<+kus ds funsZ'k fn, tkus pkfg,A 

14. Statement : dFku % 

Many private schools have been violating government  
directives and have been charging more fees than the  
specified limits. 

dbZ fuft fo|ky; ljdkj ds funsZ'k dk mYya?ku dj jgs gS rFkk 

fufnZ"V lhek ls vf/kd Qhl pktZ dj jgs gSA 

Courses of action : dk;Zokgh % 

I. The government should identify such schools and take  
stringent actions against them. 

ljdkj dks ,sls fo|ky;ks dk irk yxk ds muds f[kykQ l[r 

dk;Zokgh djuh pkfg,A 

II. The government should not limit school fees and keep it  
flexible for the schools to decide. 

ljdkj dks fo|ky; dh Qhl dh lhek r; ugha djuh pkfg, rFkk 

fo|ky;ksa dks Lo;a Qhl r; djus dh NqV nsuh pkfg,A 

15. Statement : dFku % 

A large number of patients admitted in a particular hospital  
have been diagnosed with a serious contagious disease. 

,d fo'ks"k vLirky esa cM+h la[;k esa HkrhZ gksus okys jksfx;ksa esa ,d 

xaHkhj laØked jksx ik;k x;k gSA 

Courses of action : dk;Zokgh % 

I. These patients should be immediately evicted from the  
hospital for fear of spread of the disease. 

bu jksfx;ksa dks chekjh QSyus ds Mj ds dkj.k rqjUr vLirky ls 

fudky nsuk pkfg,A 

II. The hospital should make appropriate quarantine  
arrangements to control the spread of disease. 

chekjh dks QSyus ls jksdus ds fy, vLirky dks rqjUr ,d vyx 

dejs dh O;oLFkk djuh pkfg,A 

Direction (16-20) : In these questions, relationship between 
different elements is shown in the statements. These 
statements are followed by two conclusions. Mark answer 

funsZ'k ¼16-20½ % bu iz'uksa esa] dFkuksa esa fofHkUu rRoksa ds chp lacaèk 

fn[kk;k x;k gSA dFkuksa ds ckn nks fu"d"kZ fn, x, gSaA mÙkj nhft, 

%(1) If only conclusion I follows. 
;fn dsoy fu"d"kZ I vuqlj.k djrk gSA 

(2) If only conclusion II follows. 

;fn dsoy fu"d"kZ II vuqlj.k djrk gSA 

(3) If either conclusion I or II follows. 

;fn ;k rks fu"d"kZ I ;k fu"d"kZ II vuqlj.k djrk gSA 

(4) If neither conclusion I nor II follows. 

;fn u rks fu"d"kZ I vkjS u gh fu"d"kZ II vulqj.k djrk gSaA 

(5) If both conclusions I and II follow. 

;fn nksuksa fu"d"kZ I o II vuqlj.k djrs gSA 

(16-17) : 
Statement : dFku % 

R T M Z;    C T B   

16. Conclusions : fu"d"kZ % 

I. Z > C  II. B < Z 
17. Conclusions : fu"d"kZ % 

I. B < C  II. R > C 
(18-19) : 
Statement : dFku % 

P Q T;       Q R;            T A  

18. Conclusions : fu"d"kZ % 
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I. A < Q  II. A P  

19. Conclusions : fu"d"kZ % 

I. T < P  II. R > A 
20. Statement : dFku % 

P T U W;    Q R W   

Conclusions : fu"d"kZ % 

I. T = R  II. U < R 
Directions (21-25) : In each question below are two or three 
statements followed by two conclusionsnumbered I and II. 
You have to take the two given statements to be true even if 
they seem to be at variance from commonly known facts and 
then decide which of the given conclusions logically follows 
from the given statements disregarding commonly known 
facts and give answer. 

funsZ'k ¼21&25½ % fn;s x, izR;sd iz'u esa rhu dFku ,oa nks fu"d"kZ I 

,oa II fufgr gSA vkidks bu dFkuksa dks lR; ekuuk gS] Hkys gh oks 

loZKkr rF;ksa ls fHkUu izrhr gksrs gSA lHkh fu"d"kks± dks i<+s fQj r; 

djsa fd lHkh rhu dFkuksa dks fuEufyf[kr dkSu ls fu"d"kZ rkfdZd 

:i ls vuqlj.k djrs gSA 

(1) If only conclusion I follows. 

;fn dsoy fu"d"kZ I vuqlj.k djrk gSA 

(2) If only conclusion II follows. 

;fn dsoy fu"d"kZ II vuqlj.k djrk gSA 

(3) If either conclusion I or conclusion II follows. 

;fn ;k rks fu"d"kZ I ;k II vuqlj.k djrk gSA 

(4) If neither conclusion I nor conclusion II follows. 

;fn u rks fu"d"kZ I vkSj u gh II vuqlj.k djrk gSA 

(5) If both conclusion I and conclusion II follow. 

;fn fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSaA 

(21-22) : 
Statement : dFku % 

No cow is a bull. dksbZ xk; cSy ugha gSA 

All bulls are animals. lHkh cSy tkuoj gSA 

Some animals are mammals. dqN tkuoj Lru/kjh gSA  

21. Conclusions : fu"d"kZ % 

I. At least some mammals are animals. 

de ls de dqN Lru/kjh tkuoj gSA 

II. Some mammals being bulls is a possibility. 
dqN Lru/kfj;ksa ds cSy gksus dh laHkkouk gSA 

22. Conclusions : fu"d"kZ % 

I. At least some animals are bulls. 

de ls de dqN tkuoj cSy gSA 

II. No animal is a cow. 

dksbZ tkuoj xk; ugha gSA 

23. Statement : dFku % 

Some pencils are pens. 

dqN isfUly isu gSA 

No pen is eraser. 

dksbZ isu bjstj ugha gSA 

All sharpeners are erasers. 

lHkh 'kkiZuj bjstj gSA 

Conclusions : fu"d"kZ % 

I. No eraser is a pencil. 

dksbZ bjstj isfUly ugha gSA 

II. All pencils can never be sharpeners. 
lHkh isfUly dHkh Hkh 'kkiZuj ugha gks ldrhA 

(24-25) : 
Statement : dFku % 

Some stars are planets. 

dqN rkjs xzg gSA 

Some planets are moons. 

dqN xzg pk¡n gSA 

No moon is a sun. 

dksbZ pk¡n lwjt ugha gSA 

24. Conclusions : fu"d"kZ % 

I. No star is a sun. 

dksbZ rkjk lwjt ugha gSA 

II. All planets being suns is a possibility. 

lHkh xzgksa ds lwjt gksus dh laHkkouk gSA 

25. Conclusions : fu"d"kZ % 

I. All suns being stars is a possibility. 

lHkh lwjt ds rkjk gksus dh laHkkouk gSA 

II. Some stars are planets. 

dqN rkjsa xzg gSA 

Directions (26-30) : Study the followinginformation carefully 
to answer the given questions : 

funsZ'k ¼26&½ %  fn, x, lwpuk dks lkoèkkuhiwoZd i<+sa ,oa uhps iz'uksa 

ds mÙkj nsaA 

Eight Ministers - Anant, Uma, Smriti, Manohar, Suresh, Rajnath, 
Sushma and Arun are sitting around a circular table facing towards 
the centre, but not necessarily in the same order. All of them like 
different colours viz. yellow, purple, orange, black, white, green, red 
and blue. Uma is sitting second to the left of Manohar. Manohar likes 
blue colour. Uma does not like yellow colour. Manohar is the 
immediate neighbour of that two persons who like red and purple 
colours respectively. Three persons sit between Uma and the person 
who likes green colour. Rajnath and Anant are immediate neighbours. 
Suresh does not like black, yellow or purple colour. Arun is an 
immediate neighbour of Sushma. Anant is immediate neighbour of 
both who like red and black colours respectively. Suresh is sitting just 
opposite to Arun who likes orange colour.  

vkB ea=h& vuar] mek] Le`fr] euksgj] lqjs'k] jktukFk] lq"kek rFkk 

v:.k ,d o`Ùkkdkj Vscy ds pkjksa rjQ dsUnz dh vksj eq[k dj ds 

cSBs gS] ysfdu vko';d ugha fd leku Øe esaA muesa ls lHkh 

vyx&vyx jax tSls] ihyk] cSaxuh] ukjaxh] dkyk] lQsn] gjk] yky 

rFkk uhyk ilan djrs gSA mek euksgj ds ck,a ls nwljs LFkku  ij 

gSA euksgj dh uhyk jax ilan gSA mek dks ihyk jax ilan ugha gSA 

euksgj Øe'k% yky rFkk cSaxuh jax ilan djus okyksa dk fudVre 

iM+ksalh gSA mek rFkk gjk jax ilan djus okys ds chp rhu O;fDr 

cSBrs gSA jktukFk rFkk vuUr fudVre iM+kslh gSaA lqjs'k dkyk] 

ihyk rFkk caxS uh jax ilan ugha djrk gSA v#.k lq"kek dk 

fudVre iM+kslh gSA vuUr Øe'k% yky jax rFkk dkyk jax ilan 

djus okys O;fDr;ksa dk fudVre iM+kslh gSA lqjs'k] v:.k ds Bhd 

lkeus gS tks fd ukjaxh jax ilan djrk gSA 

26. How many persons are seated between Arun and Manohar, if we 
go clock-wise from Arun to Manohar? 

v:.k vkSj euksgj ds chp esa fdrus O;fDr cSBs gSA ;fn ge 

v:.k ls euksgj rd ?kM+h dh fn'kk esa fxus \ 

 (1) One (2) Two (3) Four (4) Five (5) None 
27. Which of the following pairs of persons represents the immediate 

neighbours of Sushma? 

fuEufyf[kr esa ls dkSu ls nks O;fDr lq"kek ds fudVre 

iM+ksfl;ks dks n'kkZrs gSA 

 (1) Arun and the person who likes black colour  
 v:.k rFkk og O;fDr ftls dkyk jax ilan gSA 

 (2) Rajnath and the person who likes green Colour  

jktukFk rFkk og O;fDr ftls gjk jax ilan gSA 

 (3) Uma and Arun mek rFkk v:.k  

 (4) The person who likes orange colour and Smriti 

og O;fDr ftls ukjaxh jax ilan gS rFkk Lef̀r 

(5) None of these buesa ls dksbZ ugha 
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28. What is Suresh’s position with respect to the person who likes 
orange colour? 

og O;fDr ftls ukjaxh jax ilan gS mlds LkanHkZ esa lqjs'k dk 

LFkku dkSu lk gS \ 

(1) Third to the left ck,a ls rhljk 

(2) Fifth to the left ck,a ls ik¡pok 

(3) Fifth to the right nk,a ls ik¡pok  

(4) Fourth to the right nk,a ls pkSFkk 

(5) Second to the right nk,a ls nwljk 

29.. Starting from Anant, if all the persons are made to sit  
in the alphabetical order in clockwise direction, the  
positions of how many persons (excluding Anant) will  
remain unchanged? 

;fn vuUr ls vkjaHk djsa rks lHkh O;fDr;ksa dks vaxzsth o.kZekyk ds 

vuqlkj Øe esa yxkus ij fdrus O;fDr;ksa dk LFkku ¼vuUr ds 

vkykok½ ugha cnysxk \ 
(1) None (2) One (3) Two (4) Three (5) More than three 
30. Who amongst the following is sitting exactly between  
the person who likes red colour and Rajnath ? 

yky jax ilan djus okys rFkk jktukFk ds chp es adkSu cSBk gS \ 

(1) Sushma lq"kek (2) Arun v:.k 

(3) Uma mek (4) Manohar euksgj 

(5) Anant vuar 

Directions (31-35) : Study the following information  
carefully and answer the questions given below : 
A word and number arrangement machine when given an  
input line of words and numbers rearranges them following  
a particular rule in each step. The following is an  
illustration of input and various steps of rearrangement.  
(All the numbers are two digit numbers). 

funs'Z k ¼31&35½ % fuEufyf[kr tkudkjh dk è;kuiwoZd vè;;u dj 

uhps fn, x, iz'uksa ds mÙkj nhft,% 

,d 'kCn@la[;k O;oLFkk e'khu dks tc 'kCnksa vkSj la[;kvksa dh  

,d buiqV ykbZu nh tkrh gS] og izR;sd pj.k esa ,d [kkl fu;e 

dk ikyu djrs gq, mUgsa iquZO;ofLFkr djrh gSA uhps buiqV vkSj 

iquZO;oLFkk dk ,d mnkgj.k fn;k x;k gSA 

Input: more presence required 12 42 70 for 63 37 good work 28 
Step I : for 70 more presence required 12 42 63 37 good work 28 
Step II : good 63 for 70 more presence required 12 42 37 work 28 
Step III : more 42 good 63 for 70 presence required 12 37 work 28 
Step IV : presence 37 more 42 good 63 for 70 required 12 work 28 
Step V : required 28 presence 37 more 42 good 63 for 70 12 work 
Step VI : work 12 required 28 presence 37 more 42 good 63 for 70 
Step VI is the last step of the rearrangement as the desired 

arrangement is obtained. As per rules followed in the above 
steps, find out in each of the questions the appropriate step for 
the given input. 

bl iquZO;oLFkk dk vafre pj.k gSA mij fn, x, iquZO;oLFkk ds 

vuqlkj iz'uksa ds mfpr mÙkj nsaA 

Input for the questions: money 48 24 18 wanted for  investment 65 
90 lock credit 32 

iz'uksa ds fy, buiqV : money 48 24 18 wanted for investment  

65 90 lock credit 32 
31. Which step number is the following output? lock 32 investment 48 

for 65 credit 90 money 24 18 wanted 

fuEufyf[kr vkmViqV dkSu lk pj.k gksxk \ 

lock 32 investment 48 for 65 credit 90 money 24 18  
wanted 
(1) Step II  (2) Step III 
(3) Step IV  (4) Step V 
(5) There is no such step 

32. Which word/number would be fourth from 
the left in step IV? 

pj.k IV esa dkSu lk 'kCn@la[;k ck,a ls pkSFkk gksxk \ 

(1) for (2) 48 (3) 65 (4) 32 (5) credit 
33. Which word/number would be second to the 
right of the fifth element from the left in step V? 

pj.k V esa dkSu lk 'kCn@la[;k ck,a ls ikapos 'kCn@la[;k ds 

nk,a ls nwljk gksxk \ 

(1) for (2) 65 (3) 48 (4) investment (5) 32 
34. How many elements (words/numbers) are 
there between “for” and “18” in step III? 

pj.k III esa “for” rFkk “18” ds chp fdrus 'kCn@la[;k gksxsa 

(1) Four (2) Three (3) Six (4) Seven (5) Five 
35. Which of the following represents the 
position of “credit” in step V? 

fuEUkfyf[kr esa ls dkSu lk pj.k V esa “credit” ds LFkku dks 

n'kkZrk gS \ 

(1) Third from the right nk,a ls rhljk 

(2) Fifth from the left ck,a ls ik¡poka 

(3) Sixth from the left ck,a ls NBk 

(4) Fourth from the right nk,a ls pkSFkk 

(5) Sixth from the right nk,a ls NBk  

Directions (36–40) : What should come in place of  
the question mark (?) in the following questions ? 

funsZ'k (36–40) : fuEufyf[kr iz'uksa esa iz'u&fpUg ¼\½ ds LFkku ij 

vkus okys la[;kvksa dk eku crk,a& 

36. 
9 27 18 5

, , ?
2 9 7.5 4

  

(1) 4.5 (2) 5.7 (3) 2.5 (4) 6.8 (5) None of these 
37. ? % of 280 + 18% of 550 = 143.8 
(1) 11 (2) 18 (3) 21 (4) 16 (5) None of these 
38. 8.88 × 88.8 × 88 = ? 
(1) 68301.142  (2) 79391.642 
(3) 65365.824  (4) 76218.414 
(5) None of these buesa ls dksbZ ugha 

39. 
22500 961 (?)   

(1) 81 (2) 3 (3) 6561 (4) 9 (5) None of these 

40. 
4 3 1

1 1 1 ?
7 5 3
    

(a) 
47

5
105

 (b) 
58

4
105

 (c) 
53

4
105

 (d) 
43

5
105

 

Directions (41–41) : What should come in place of  
questions mark (?) in the following number series ? 

funs'Zk (41–45) : fuEufyf[kr la[;k Ükza`[kyk es iz'u fpUg ¼\½ 

ds LFkku ij D;k gksuk pkfg,\ 

41. 15 18 16 19 17 20 ? 
(1) 23 (2) 22 (3) 16 (4) 18 (5) None of these 
42. 1050 420 168 67.2 26.88 10.752 ? 
(1) 4.3008 (2) 6.5038 (3) 4.4015 (4) 5.6002  
(5) None of these buesa ls dksbZ ugha 

43. 0 6 24 60 120 210 ? 
(1) 343 (2) 280 (3) 335 (4) 295 (5) None of these 
44. 32 49 83 151 287 559 ? 
(1) 1118 (2) 979 (3) 1103 (4) 1120 (5) None of these 
45. 462 552 650 756 870 992 ? 
(1) 1040 (2) 1122 (3) 1132 (4) 1050 (5) None of these 
Directions (46–50) : What approximate value  
should come in place of question mark (?) in the  
following question ? (Note: You are not expected to  
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calculate the exact value) 

funsZ'k ¼46&50½ % fuEufyf[kr iz'uksa esa iz'u&fpUg ¼\½ ds LFkku ij 

vkus okys la[;kvksa dk fudVre eku crk, ¼okLrfod eku dh 

x.kuk djuk vko';d ugha gS½A 

46. 5554.999 ÷ 50.007 = ? 
(1) 110 (2) 150 (3) 200 (4) 50 (5) None of these 
47. (18.001)3 = ? 
(1) 5830 (2) 5500 (3) 6000 (4) 6480 (5) None of these 
48. 23.001 × 18.999 × 7.998 = ? 
(1) 4200 (2) 3000 (3) 3500 (4) 4000 (5) None of these 
49. 9999 ÷ 99 ÷ 9 = ? 
(1) 18 (2) 15 (3) 6 (4) 11 (5) None of these 
50. 22.005% of 449.999 = ? 
(1) 85 (2) 100 (3) 125 (4) 75 (5) None of these 
Directions (51–55) : In the following questions two  
equations numbered I and II are given. You have to  
solve both the equations and 

funsZ'k ¼51&55½ % fuEufyf[kr iz'uksa esa nks lehdj.k I ,oa II fn;s x, 

gSA vkidks nksuksa lehdj.kksa dks gy djuk gS ,oa viuk lgh mÙkj 

r; djuk gSA  

Give answer  
mÙkj nsa% 

1. If x > y  

2. If x   y 

3. If x < y  

4. If x   y 
5. If x = y or the relationship cannot be established. 
(5) ;fn x = y ;k laca/k LFkkfir ugha fd;k tk ldrkA 

51. I. 16x2 + 20x + 6 = 0 
II. 10y2 + 38y + 24 = 0 
52. I. 18 x2+ 18x + 4 = 0 

II. 12 y2 + 29y + 14 = 0 
53. I. 8 x2+ 6x = 5 
II. 12 y2 – 22y + 8 = 0 
54. I. 17 x2 + 48x = 9 
II. 13 y2= 32y – 12 

55. I. 4x + 7y = 209 
II. 12x – 14y = –38 

Directions (56-60) : The following table shows the  
total male population and total female population of  
six different cities and the ratio of adults to minors  
among them. Study the given table carefully and  
answer the questions given below: 

funsZ'k (56-60) : fuEufyf[kr lkj.kh N% vyx vyx 'kgjksa dh  

dqy iq#"k rFkk dqy efgyk tula[;k dks rFkk buesa ls o;Ld rFkk  

fd'kksjks ds vuqikr dks n'kkZrh gSA nh xbZ lkj.kh dk è;kuiwoZd  

vè;;u djsa rFkk fuEufyf[kr iz'uksa ds mÙkj nsaA 

 

 
56. What is the difference between the total number of adult males of 

City B and that of City C ? 

 'kgj B ds Ok;Ld iq#"kksa dh dqy la[;k ,oa 'kgj C ds Ok;Ld 

iq#"kksa dh dqy la[;k dk varj Kkr djsa \  

(1) 10352  (2) 11074 
(3) 12518  (4) 13208 
(5) None of these buesa ls dksbZ ugha 

57. What is the total number of adults in City A? 

'kgj A esa o;Ldks dh dqy la[;k fdruh gS \ 

(1) 140312  (2) 142416 
(3) 143518  (4) 144604 
(5) None of these buesa ls dksbZ ugha 

58. The total number of minor males in City F is  
approximately what per cent of the total number of adult  
females in that city ? 

'kgj F esa fd'kksj iq#"kksa dh dqy la[;k] mlh 'kgj esa o;Ld  

efgykvksa dh dqy la[;k dk yxHkx fdruk izfr'kr gS \ 

(1) 42.5% (2) 44.8% (3) 46.4% (4) 48.6% 
(5) None of these buesa ls dksbZ ugha 

59. What is the difference between the total number of  
adult males in City D and that of adult females in City E ?  

'kgj D eas o;Ld i#q"kksa dh dqy l[a;k rFkk 'kgj E esaa o;Ld 

efgykvksa dh dqy la[;k dk varj fdruk gS \ 

(1) 13124 (2) 15384 (3) 16514 (4) 17304 (5) 19644 
60. The total number of minor females in City A is  
approximately what per cent more or less than the total  
number of minor females in City B ? 

'kgj A esa fd'kksj efgykvksa dh dqy la[;k] 'kgj B dh fd'kksj  

efgykvksa ds dqy la[;k ls yxHkx fdrus izfr'kr vf/kd ;k de gS  

\ 

(1) 11% (2) 13% (3) 15% (4) 17.5% (5) None of these 
Directions (61-65) : The given pie-chart shows 
the percentage distribution of total sarees sold 
by six different companies and the table shows 
the ratio of cotton to chiffon sarees among the 
sold sarees. Answer the given questions based 
on the pie-chart and the table. 

funsZ'k (61-65) : fn;k x;k ikbZ&pkVZ N% fofHkUUk daifu;ksa }kjk  

csph xbZ dqy lkfM+;ksa dk izfr'kr fooj.k n'kkZrk gS rFkk lkj.kh csph  

xbZ lkfM+;ksa eas dk¡Vu rFkk f'kiQk¡u lkM+h;ksa dk vuqikr n'kkZrh gSA  

ikbZ&pkVZ rFkk lkj.kh ij vk/kfjr fn, x, iz'uksa ds mÙkj nsaA 

Total sale = 1.7 lakh 

 
COMPANY COTTON CHIFFON 

A 9:8 

B 11:7 

C 3:6 

D 8:5 

E 7:9 

F 3:2 

61. What is the total number of chiffon sarees sold by  
Company A, B and C together ? 

61. daiuh A, B rFkk C }kjk csph xbZ f'kiQk¡u lkfM+;ksa dh dqy 

la[;k Kkr djsa \ 

(1) 43200 (2) 45400 (3) 48700 (4) 49300  
(5) None of these 
62. What is the difference between the total no. of cotton  
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sarees and the total no. of chiffon sarees sold by Company  
D ? 

daiuh D }kjk csph xbZ dk¡Vu lkfM+;ksa dh dqy la[;k rFkk f'kiQkWu  

lkfM+;ksa dh dqy la[;k dk varj Kkr djas \ 

(1) 4900 (2) 5100 (3) 5300 (4) 5500 (5) None of these 
63. What is the ratio of the total no. of chiffon sarees sold  
by Company E to that of cotton  sarees sold by Company F  
? 

diauh E }kjk csph xbZ f'kiQkuW lkM+h;ksa dh la[;k ,oa diauh F  

}kjk csph xbZ dkWVu lkfM+;ksa dh la[;k dk vuqikr Kkr djs\a 

(1) 2 : 1 (2) 3 : 2 (3) 4 : 3 (4) 5 : 4 (5) None of these 
64. The total number of cotton sarees sold by Company D  
is approximately what percent of the total no. of sarees  
sold by Company F ? 

daiuh D }kjk csph xbZ dkWVu lkfM+;ksa dh dqy la[;k daiuh F }kjk  

csph xbZ dqy lkfM+;ks dh la[;k dk yxHkx fdruk izfr'kr gS \ 

(1) 60% (2) 75% (3) 80% (4) 120% (5) None of these 
65. What is the difference between the total number of  
cotton sarees sold by all companies together and total  
number of chiffon sarees sold by all companies together ? 

lHkh daifu;ka s }kjk csph xbZ dqy dkWVu lkfM;+ks dh l[a;k rFkk 

dqy f'kQkWu lkfM+;ksa dh la[;k dk varj fdruk gS \ 

(1) 9600 (2) 11400 (3) 12700 (4) 13200 (5) None of these 
Directions (66–70) : Study the information carefully  
and answer the given questions. 

funsZ'k (66–70) : uhps fn;s x, iz'uksa dk mÙkj nsus ds fy,  

fuEufyf[kr lwpukvksa dks è;kuiwoZd i<+sA 

In a company total 2700 employees work in five different 
departments, namely D1. D2, D3. D4, and D5. The ratio of males to 
females in the company is 5 : 4. 26% of the female employees work 
in department D1, and 14% of the male employees work in 
department D2. The difference between the male and female 
employees in department D1, where male are more than female, is 
138 and the ratio of male to female employee in department D2 is 7 : 
6. The total number of employees working in department D3, is 210, 
in which the number of female employees is 75% of the total number 
of males. The number of females working in department D4, is equal 
to the total number of males working in department D2, and the 
number of males working in department D4, is three more than the 
number of females working in department D1. The remaining male 
and female employees work in department D5.  

,d daiuh esa dqy 2700 deZpkjh ik¡p vyx&vyx foHkkx ftuds  

uke D1, D2, D3, D4 rFkk D5 gS] ds varxZr dke djrs gSA  

daiuh esa iq#"kksa dk efgykvksa ls vuqikr 5% 4 gSA efgyk deZpkfj;ksa  

dk 26» foHkkx D1 esa dk;Zjr gS rFkk iq#"k deZpkfj;ksa dk 14»  

foHkkx D2 esa dk;Zjr gSA foHkkx D1 esa iq#"k rFkk efgyk deZpkfj;ksa  

esa varj 138 gS] ftlesa iq#"k vf/kd gSA foHkkx D2 esa iq#"kksa ,oa  

efgykvksa dk vuqikr 7: 6 gSA foHkkx D3 esa dqy 210 deZpkjh gS  

ftlesa efgyk dh la[;k] iq#"k deZpkfj;ksa dh la[;k] dk 75» gSA  

foHkkx D4 esa dk;Zjr efgykvksa dh la[;k foHkkx D2 esa dk;jZr  

iq#"kksa dh l[a ;k ds cjkcj gSaA foHkkx D4 es a dk;jZ r iq#"kksa dh  

la[;k] foHkkx D1 esa dk;Zjr efgykvksa dh la[;k ls rhu vf/kd gSA  

'ks"k iq#"k rFkk efgyk deZPkkjh foHkkx D5 esa dk;Zjr gSA 

66. What is the total number of females working in  
department D5? 

foHkkx D5 esa dk;Zjr dqy efgyk deZpkfj;ksa dh la[;k fdruh gS \ 

(1) 397 (2) 408 (3) 415 (4) 418 (5) None of these 
67. The total number of males working in department D4 is what per 

cent of the total number of males working in the company? 

foHkkx D4 esa dk;Zjr iq#"kksa dh dqy la[;k] daiuh esa dk;Zjr 

iq#"kksa dh dqy la[;k dk fdruk izfr'kr gS \ 

(1) 15% (2) 18% (3) 21% (4) 24% (5) None of these 
68. The total number of females working in department D2  
is what per cent of the total number of males working in  
department D1? 

foHkkx D2 esa dk;Zjr efgykvksa dh dqy la[;k] foHkkx D1 esa  

dk;Zjr iq#"kksa dh dqy la[;k dk fdruk izfr'kr gS \ 

(1) 25% (2) 30% (3) 36% (4) 40% (5) None of these 
69. The number of females working in department D3 is  
what per cent of the number of males working in the same 
department?  

foHkkx D3 esa dk;Zjr efgykvksa dh la[;k blh foHkkx esa dk;Zjr  

iq#"kksa dh dqy la[;k dk fdruk izfr'kr gS \ 

(1) 120% (2) 133% (3) 80% 4 ) 75% (5) None of these 
70. What is the ratio of the number of males working in  
department D5 to the number of males working in  
department D1? 

foHkkx D5 esa dk;Zjr iq#"kksa dh dqy la[;k ,oa foHkkx D1 esa  

dk;Zjr iq#"kksa dh dqy la[;k dk vuqikr Kkr djsa \ 

(1) 4 : 5 (2) 8 : 9 (3) 9:10 (4) 14 : 15 (5) None of these 

Directions (71–80) : Read the following passage 
carefully and answer the questions given below it. 

Certain words have been printed in bold to help you 

locate them while answering some of the questions. 
Thinking of what education might look like in the next decade, one 
quickly realizes that the trends in technology are leaving a large 
number of our students behind. Today is an age of exponential 
change. New and ever improving technologies are popping up every 
day and in every corner of society. Educating the best and the 
brightest in this brave new world will take a new and improved 
educational paradigm. Allowing our educational tools to age in the 
corner of the classroom will be the mistake that may cost us our 
future. Throwing away masses of children to inequitable access will 
ensure that we languish at the bottom of the global pool of 
employable workers for decades to come. Technology will shape the 
way we educate students in the next decade. A user is not simply a 
person who uses. For the student, being a user should  involve using 
the latest technology in a free and autonomous manner. This 
newfound freedom will allow the student to become an active 
participant in his/her education instead of a passive passenger. In our 
current technological society, being a user also means being 
tracked.Tracking a student means having the ability to target  
education towards weaknesses and strengths. The ability to 
accurately customize curricula to the individual has been the holy grail 
of educational philosophy for many years. This golden age of 
technological development may soon enable this dream to become a 
reality. Current educational curricula and individual assessment is 
arbitrary at best. Accurately assessing a student can only be achieved 
by  using modern tracking and database technologies. Imagine a 
world where every child has a tablet computer with ready access to 
the internet. Further, imagine that every student can access all the 
knowledge of humankind freely at any moment in time. Continue to 
imagine a world where a misspelled word brings up a spelling 
challenge application instead of an auto correction. Try to 
contemplate what it would mean for a teacher to have a database of 
every misspelled word, every misunderstood concept or every missed, 
equation for each of their students. Try to envision a teacher with the 
ability to customize the experience of the individual “user” with 
minimal effort. Imagine the curriculum being automatically targeted 
to the user through an intuitive educational platform that knows all 
strengths  and each unique weakness. In the last few hundred years, 
most individuals would consider an education as something you 
receive. You often hear the question asked, “Where did you receive 
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your education?” As we proceed through the next decade, education 
will slowly move away from reception and toward being custom 
designed for the individual user. New technology will not only allow us 
to receive an education, but also develop an education. The question 
we might ask in ten years, “How did you develop your education?” 
The question of where will still be important, but the how of the 
matter will be the focus that defines the individual.To make this a 
reality we will need a standardized platform from which to develop a 
student’s unique education. This standardized platform will allow us to 
tailor a custom curriculum that will be matched to talents, interests 
and life goals. For the educator, a standardized platform will create a 
way to assist the student in discovering a true purpose in life through 
a unique educational experience. The basics of reading, writing and 
arithmetic will not be taught as much as they will be discovered and 
used. Learning will become a reciprocal experience between the 
teacher, the student and the machine. Under a standardized platform 
each of these three participants will have a role to play. The teacher 
will be the facilitator, assisting the development of the curriculum and 
inspiring the direction the student takes. The student will be user, 
gathering resources, skills and knowledge in an efficient and 
measured sequence. The machine will do the work of data gathering 
and analysis, which will assist the teacher and student in refining the 
curriculum. This data gathering work of the machine will also free the 
teacher from the burden of record-keeping and tedious tasks that 
currently distract from the real job of teaching and learning. Under a 
standardized system, grade level will be far less important. 
Achievement and progression will be measured by accomplishment 
and intelligence as a benchmark for success. The question of failure 
or success will be irrelevant  and replaced with a standard and 
consistent  measurement of potential and overall intelligence. 
Information will no longer be missed but continually rehearsed and 
monitored for retention by the machine. Tasks such as data tracking, 
reporting and record keeping are currently accomplished manually. 
These tasks could easily be delegated to an intuitive database. 
Developing a standard to follow would eliminate these tasks and free 
the teacher to do their main job of teaching students. The next 
decade may mark the moment in history when all are granted equal 
access to technology. Access to quality education will only be gained 
through investment and universal standardization of this technology. 
If we continue to divert wealth towards fruitless goals and corporate 
greed, this opportunity will be lost or hopelessly delayed. 
71. According to the author, which of the following will be the 
benefit(s) of introducing a standardized technological platform? 
(A) Potential of a child will take precedence over the grades he/she 
scores. 
(B) Improving the educational syllabus would become easier. 
(C) Teachers would be able to devote more time to teaching. 
(1) Only (C)   (2) All (A), (B) and (C) 
(3) Only (B) and (C)  (4) Only (A) and (B) 
(5) Only (A) 
72. Which of the following is/are true in the context of the passage? 
(A) In the presence of technology each student would require 
constant monitoring by other individuals to maximize learning. 
(B) Educational philosophy is based on the belief of tailoring 
educational syllabus to individual student capability. 
(C) The author visualizes that each  student will have access to 
technology in the future. 
(1) Only (A) and (B)   (2) Only (B) 
(3) Only (C)    (4) Only (B) and (C) 
(5) All (A), (B) and (C) 
73. Which of the following is possibly the most appropriate title for 
the passage ? (1) Technology - A Welcome Relief to Teachers 
(2) Revamping the Educational Sector – An Impossible Future  
(3) Education - Arbitrary But a Reality 
(4) Technology and the Economy 
(5) Technology - Reshaping the Future of Education  
74. What does the author mean by the term “tracking a student” ? 

(1) Analyzing the strengths and weaknesses of a student and 
designing an educational syllabus accordingly. 
(2) Assessing whether a student is paying due attention to the 
existing curriculum offered by an institute of learning. 
(3) Analyzing the positives and negatives of an educational institute 
and modifying it suitably to cater to industrial requirements. 
(4) Following a student to the educational institute that he visits 
frequently in order to estimate the time he spends 
there.  
(5) None of these 
75. According to the author, why is the current education provided 
not satisfactory ? 
(1) The teachers providing education are not qualified enough to 
emphasize on quality. 
(2) Quality of education provided is not uniform across the globe and 
individual assessment is subjective. 
(3) The educational sector is fraught with corrupt practices and thus 
does not produce the desired result. 
(4) The education system is not guided by technology and hence the 
pace of learning is slow. 
(5) There are too many schools in the country which cannot be 
monitored effectively. 
76. What is the author’s vision regarding the integration of technology 
with education ?  
(A) A substantial database consisting of each student’s learning curve 
would be readily available. 
(B) An error would activate a software which would encourage 
learning rather than autocorrecting. 
(C) Experimentation in academics would be encouraged. 
(1) Only (C)   (2) Only (A) and (B) 
(3) All (A), (B) and (C) (4) Only (A) and (C) 

(5) None of these 
Directions (77-8) : Choose the word which is most 
similar in meaning to the word printed in bold as used in the 
passage. 
77. PARADIGM 
(1) change (2) shift(3) future (4) model(5) diagnosis 
78. DELEGATED 
(1) taxed (2) demoted (3) input  (4) authorized (5) assigned 
Directions (79-80) : Choose the word which is most opposite 
in meaning to the word printed in bold as used in the 
passage. 
79. INEQUITABLE 
(1) abundant  (2) complete (3) unequal  (4) fair (5) sufficient 
80. LANGUISH 
(1) ripen  (2) hasten (3) flourish  (4) weaken (5) climb 
Directions (81 - 85) : Which of the phrases given  against the 
sentence should replace the word/ phrase given in bold in 
the sentence to make it  grammatically correct ? If the 
sentence is correct as it is given and no correction is 
required, select ‘No correction required’ as the answer. 
81. Complying the Foreign Account Tax Compliances Act which was 
passed in the US in 2010, mutural fund  nvestors have to submit 
declarations and KYC details. 
(1) Comply with   (2) In order to comply with 
(3) By complying  (4) Inspite of complying 
(5) No correction required 
82. When BRICs countries faced opposition to reforms, they pursuit 
change by establishing new institutions such as the Asian 
Infrastructure Investment bank. 
(1) their pursuit of change  (2) they pursued change 
(3) their pursuit changing (4) they were to pursuit changes   
(5) No correction required 
83. Knowledge centres being much useful in disseminating 
information pertaining to weather and crop price and also benefit 
students as they can look up exam scores; learn skills and look for 
employment.  
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(1) are more usefully   (2) being of much use 
(3) have much to use  (4) are very useful 
(5) All correction required 
84. Experts believe that it is utmost important that staff be trained 
to take adequate security precautions to avoid cyber attacks.  
(1) utmost importantly   (2) most importance 
(3) mostly too important (4) of utmost importance 
(5) All correction required 
85. It can be difficult to impart financial know how at a young age but 
in developing countries financial literacy among the young are quite 
well. 
(1) is quite good   (2) are geting better 
(3) have been good  (4) will be best (5) All correction required 
Directions (86 - 90) : Rearrange the following five sentences 
(A), (B), (C), (D) and (E) in the proper sequence to form a 
paragraph; then answer the questions given below them. 
(A) But the conventional wisdom is wrong. 
(B) The assumption is that planting trees and avoiding further 
deforestation provides a convenient carbon capture and storage 
facility on the land. 
(C) Considering all the interactions, large-scale increases in forest 
cover can actually make global warming worse. 
(D) Deforestation accounts for about 20 percent of global emissions 
of carbon dioxide.  
(E) That is the conventional wisdom. 
(F) In reality, the cycling of carbon, energy and water between the 
land and atmosphere is much more complex. 
86. Which of the following should be the SECOND sentence after 
rearrangement ? 
(1) A (2) B (3) C (4) D (5) E 
87. Which of the following should be the THIRD sentence after 
rearrangement ? 
(1) A (2) B (3) F (4) D (5) E 
88. Which of the following should be the FOURTH  sentence after 
rearrangement ? 
(1) A (2) B (3) C (4) E (5) D 
89. Which of the following should be the FIRST sentence after 
rearrangement ? 
(1) A (2) B (3) C (4) D (5) E 
90. Which of the following should be the LAST (SIXTH) sentence 
after rearrangement ? 
(1) A (2) F (3) D (4) C (5) B 
Directions (91-95) : The given sentence have two blanks 
which indicate that something has been omitted. Choose the 
words that best fit the meaning of the sentence as a whole.  
91. Each country must realise that it has played a _____ in global 
warming and should embrace its responsibility to _____ this problem. 
(1) joke, reduce  (2) hunch, improve 
(3) role, arrest   (4) part, recover 
(5) card, strengthen 
92. Micro credit institutions in Guatemala provide loans along with 
free advice and training in how _____ to use the money and this 
_____ farmers boost their productivity 
and income. 
(1) best, helps  (2) well, enables 
(3) better, encourage (4) important, makes 
(5) often, urge 
93. It is _____ that we don't have to wait for enormous economic 
growth to improve society, as even small steps  such as financial 
inclusion can bring _____ progress. 
(1) realised, any (2) likely, remarkable 
(3) true, tremendous (4) appropriate, significantly 
(5) certainly, superb 

94. These relaxations in guidelines are _____ only to long-term 
borrowings and RBI will _____ keep a check on short-term 
borrowings. 
(1) given, continue (2) made, necessary 
(3) valid, ensure (4) granted, be 
(5) applicable, still 
95. Today we _____ computers with data and get them to use 
probability to infer and provide us with recommendations and _____ . 
(1) enter, result  (2) feed, solutions 
(3) type, answer  (4) key, algorithms 
(5) provide, outcome 
Directions (96-100) : In each question below, a sentence 
with four words printed in BOLD type 
 is given. These are numbered as 1), 2), 3) and 4). One of 
these four boldly printed words may be either wrongly spelt 
or inappropriate in the context of the sentence. Find out the 
word which is wrongly spelt or inappropriate, if any. The 
number of that word is your answer. If all the boldly printed 
words are correctly spelt and also appropriate in the context 
of the sentence, mark 5), ie ‘‘All Correct’’, as your answer.  
96.Owing to 1)/ scarsity of water, 2)/ the metropolitant city of 
Mumbai is passing 3)/ through a hard time. 4)/ All correct 5). 
97. I repriminded him for using 1)/ humiliating language while 2)/ 

addressing the 3)/ audience. 4)/ All correct 5). 87. (1) 
98. I appealed to her to look after my 1) children during my 2)/ 
absence and she 3)/ acceded to my request. 4)/ All correct 5) 
99. You have absolutely no 1)/ authority to 2)/ interphere in my 
3)/ affairs. 4)/ All correct 5) 
100. This time I was compelled 1)/ to leave him unpunished 2)/ 
althogh he deserved server 
3)/ punishment for breech of rules. 4)/ All correct 5) 


